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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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13:45 246 150.0 5| 1Ri%e13:45 B (REEREE)
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34.0 1 35. 95 -
T T T T T T T T T T T T
600 800 1000 455 460 465 550 555 560 605 610 615
m=655,m FV0=0 m=705,m FV0=0 m=760,m FV0=0 m=810,m FV0=0
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09:05 250 150.0 [Z x| {;718009:05 H#) kAT EEs)
09:55 250 150.0 [Z x| {;718009:556 H#) kML Ees)
10:45 250 150.0 [Z =] {;18010:45 H) CRAfZEEs)
11:30 250 150.0 | F&| {i%011:30 B3 (RAfEREs)
12:15 250 150.0 | F&| {i%012:15 B3 (RAEREs)
13:00 250 150.0 | Fg| {;718013:00 H#) CRAfZEES)
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T8:00 550 T e e B S ]
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T T
600 800
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865 8%0

36

34 -

32 -

30 A

28 A

‘%3

—— MW

600 800

36.

35.

35.

34.

38.

38.

37.

39.

38.

38.

37.

m=455, FV0=0

0 .
5 .
0 .
5 .
T T T
455 460 465
m=660,m FV0=0
—o—
5 .
o .
5 .
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04 —@—
5 .
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0 .
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08:00 254 150.0 [X=| {Ri%e08:00 Bz CRATEE
09:00 254 150.0 [Z=| {/i%e09:00 Bz CGRAEEE)
10:50 254 150.0 [Z=| fRi%e10:50 Ha) CGRAEEE)
12:30 254 150.0 | FE| fri%e12:30 Ha) CGRAEREE)
14:70 254 150.0 [Z=| fmiZe14:10 5z CGRAEES)
&11[1270.0 5X) 750.0 #2107 7REC: 2080. 0 :




P4_0, Day=44 (2025-05-18)

L e A e 5 e e S Rt S - 1500
)V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1950
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Warning: lcol [FVI',| "FVO’'] missing
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0.0

(]
TargetEC=2600. 0,  TargetSetEC=2080. 0 —>— ECB*10%
2200 o ® ECC

b (]

2000

7.0
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m=475, FV0=0 m=515, FV0=0 m=590, FV0=0
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T T T T T T T T T T T T
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